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The newly appointed Managing Director of LM.F, is
(a) Kristalina Georgieva (b Christine Lﬂgﬂ[ﬂé
(c) Raghuram Rajan (d) Surjit Hhal’[ﬂ‘

The National Programme launched on October 10
2019 by the Indian Government 1o encourage
talented children o enrich their skills js

(a) LAKSHYA (b) PRATIBHA
(c) DHRUV (d) PARIVARTAN

Match List — I with List — 1T and select the correct |

answer from the codes given below the lists :

Bharat-Bharati Award
B. Greta Thunberg 2. Hong Kong Leader

C. Dr. Usha Kiran 3. Environmental
Activist

D. Carne Lam 4. British Tour and
Travel Company

Codes :

A B C D

@) 1 2 3 4

by 4 2 3 |

f¢) 1 3 4 2

dy 4 3 1 2

The 2019 Nohel Prize for Economics was given to
a woman for the second time, name the first woman
who was earlier awarded this prize.

(a) Esther Dufio (b) Gerty Theresa Cori

(¢} Maria Goeppert  (d) Elinar Ostrom

Rural Sanitation Strategy launched by M?ﬂiﬂF}“ of
Jal Shakti in September 2019 relates to which of the

following periods ?
(a) 2019-2035 (b) 2019-2029
() 2019-2022 (d) 2019-2024

Central Institute of Indian Languages is located at which
of the following places 7

(&) Varanas (b) Mysore

() MNew Delhj (d) Shimla

Irtd.i.;-’s aims to achieve land degradation neutrality
by the year

(a) 2025 (b} 2030

b

(TR

L mm—'% % T R wy frearr &
(a) Brwfern atftar (1) et ure
(e} THUH o9 (d) HUA

2 I T 2 a7aga 10, 2000 % ufnmaneh
Tl & Hwe wgfe F e i o R
T WSS iy 2

(c} HA (d) qfraredd

1 gt - 1F g - @ gl b ai g
% A2 Fr et B wd T g

et - | gt - 11 _ﬁ

A, UTHH T | A ] 5
B. Trel g 2 BT R R ATl
C.gf. o e 1 ety Frdeadl
p. it # 4, fafemet va 90
%'ﬂ B C D
(ay 1 2 3 4
by 4 2 3 |
e 1 3 4 2
dy 4 3 12

a4 2010 Y F FEE QERT ZEO AR
feeft wfeen =1 fean T | 36 YW= O Tt
(x) $ER Tl (h) T gy =
() wifeE S (d) TR 3t

figgrert 20198 <71 U AT 210 a1 e oo

rareod WA 9 5 # fhe safy & dafig 2
{a) 2019-2035 (b} 2019.2009
(c) 20192022 (d) 20192004

Wi WITA] 1 S JeE fsfige -
fire i W arafig 2 4

(a) EnTrDTFﬁ (b) Y

(c) 7% g (d) Rmen

YA B gﬁwa@mmﬁwmww%
(a) 2025w (b) 20307

(c) 20357 (d) 20407



OO R

D

10,

11

12,

13,

14,

Which Geosvnchronons Satellite Launch Vehicle
wits used by ISRO 1o Inunch Chandray san-2 space
craft ?

(a) GSLY - MK I - M1

(by GSLW -MKII-M2

(c) GSLY - MK IV - M8

(d) GSLY =MEK V —-M4

Which of the tollowing statements about India's
largest Charkha isfare true ?

. Tl was inaugurited in Naida.

2. It1s made of used plastic waste.

Select Lthe conect unswer from the codes siven below
Codes :

{a) Only |

(c] Both | and 2

(bl Only 2
(d) WNeither | aor 2

Which of the following organisms has while blood 7
(a) Lizard (b) Cockroach
(¢) House bug (d) Mosqguito

Nitrogen fixing bacteria make combination withcells
of the roots of

(a) Pulses
(c) Wheat

(b) Rice
(d} Sugarcane

What happens when some charge is placed on a
soap bubble ?

{a) Its radius increases
(b} Its radius decreases
{c) The bubble collapses
(d) None of the above

Which of the following pairs is NOT correctly
matched 7
(a) Oxytocin
(b) Aspartame
(] Neoprene
(d) Rayon

Hormone
Synthetic sweetner
Specialized rubber
Modified starch

Which of the following substances is NCYT a protein ?
[a) Cotton

(b)Y Hair

(c) Spider silk

(d) Hoof

100,
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-2 3l e w vafa w0 o e g gm e
e T WA A A a2 ¢
(a) GSLV - MK I - MI

(b} GSLY - MK 11 - M2

() GSLV - MK IV - M8

() GSIV - MK V - M4

T & wEd w2 gl & agy o Geefalan 1
¥ wmA-H1 WA wE AR 7

|, SWE JEUTEA AnEl § R |

1. dE IET ﬁwgﬂﬂrfﬁmmnwe“l
fia fev 52 9 8 "l 3 9H0

TFE !
{:s]éﬁﬂl

(h) e 2

(cy 1@ 2 ek NELIRE.EEi

Frfafia o @ fom e = wa Tz war 8 7

(a) T (by freraer

(c) TF Eeae (d) T

Arggter Rl sy e O < 92 F o
A FAd & 7

(a) T (b) ===

(c) T (d) T

A Pt T % gere 3 smafm e s 2,
M= A mmatadmi 7

(a) = =g = 2

(b) THe = Sl 2

(c) HEEE 1w 6 o

(d) I A § FE 5

(c) TRzl fafire 1ag
(d) ¥ wiAh e

i & & S e W i 7
(a) =FaTg

(b} =71 /==

(e} =@ T TR e

(d) T
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d for a long time 10

quid remains hot or col "
A liguid remuuns h ws or gain of

thermaos Mask because there is no b
heal by

(a) Conduction

(b} Convection and radiation

(¢} Both (a) and (b)

(dy None of the above

Which of the following glands in human body acts both
as u endocrine gland as wedl as an exocring gland 7

(0) Adrenal pland (b) Lacrimal gland

(¢} Pancreas (€) Thyroid

W |'Ii‘r:'?1 ane of the T's;:nle.l.:i.ng materipls contains
calcium ?
(i) Ching -::I.:l:f

- (b) Corundum
() Gyvpsum

(d} Tale

Which one of the folln S —
matched ? pllowing 15 NOT correctly
ESﬂhstanmj

_ Lise
(a) Silver bromide e

artificial
pholosynihesis
artifeeial mun
rcatment of
rheumatism
antacid

(b Silver indide
() Lit]liulnbi[_‘;ll‘hﬁ.':-ﬂﬂ_[ﬂ

(d] Milk of magnes;s

Tulsi plant has medicinal W
of the following

ta) Inorganic Acid

(b) Organic Acid

(c) Phenols and Flavonoids
(d) None of the aboye

Alues dye o (e presence

What is true ghgut ECOSystem 7
(@) Primary cons, MErs are

producer east dependen upon
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ﬂﬂﬁﬂﬁﬁﬁ?ﬂmﬁﬂ‘iﬂm’ﬁmé@rﬂt
aifer 31 ol I BT Feran wfe e 2
(a) ETCH

(h) @=ed vd fafeto

(¢) (a) 3T (b) S

(d) TIUFT O H RIS TS

Wmﬁﬁﬁlﬁrﬁaﬁﬁﬂﬁ?niﬂ’ﬁlmm
(a) Uger ufly (b) 3reqafy

(c) FHTIY (d) YTz

ﬁﬁﬁﬁiﬁﬁﬁﬁﬁmwﬂﬁ?ﬁﬁmmh
(a) = e (h) FITZy

(c) Foemm (d) 2=

ﬁﬁﬁ’if@?{ﬁﬁﬂﬁ?rmﬁﬁgﬂ%ﬁqﬁ% 7
(craed) (3ui)

() Toeat simmgg Fhm wemm wrem
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The environment modified by human activities is
called

(1) Natural environment

(b) Anthropogenic environment
(¢) Urban environment

(d) Maodem environment

Which of the following statement is NOT true 7
{a) Species diversity increases from equator
towards poles.

(b) Tropics harbour more species than temperate
arens.

{c) Greatest bindiversity occurs in Amazonean rain
forest.

(d)} Species diversity decreases from temperate
areas towards poles,

Which one of the following is the well known
example of bioindicator of air poliution 7

(a) Lichens (b} Methyl mercury

(c) Rose plant (d) Sunfower

Which of the following is NOT comrectly matched 7
(a) Desalination Sea waler
(h] Reverse nsmaosis Potable water
(c) Deénaturation Proteins

(d] Pasteurisation Tea

Which of the following is an example of herbicide
(a) Sodium chlorate

(b) Potassium permanganate

(¢) Bleaching powder

(d) None of the above

The gas, which is emitied in the paddy ficlds and

increases the earth's lemperature 15
{1) Nitrogen (b) Carbon dioxide

(¢) Carbon monoxide (d) Methane

At which of the following places is the Secretarat
of the International Solar Alliance (L.5.A.) located
at present 7
(a) Parnis

{e) Gurugram

'~ (b) New Delhi
(d) New York

|

24,

e
L

26.

28,

NJL-1 =19
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(a) Jafies T
(by Trda e Tt
(c] ﬂ%ﬂ g IETel

(d) FTfAER Tt

Preffaa ot 1 8 S9-T o T8 2 7

() EEE B 4E ) 3t faf | gfa
Bl 2 |

by awenfEEy, sfiaton i 6 woan wfoes
et «nl anem g

) fammemm Safafram amsh ael a9 9 aef
A B

() Afafatam e a9 | g8 oA azh
AT % |

frefafian 3 @ wF-m amugme % M 1=+

T Ui JorEm B 7 |
() TIEHAH () Wi werft
(d) FEHEt T

(c) T g
fFrfefEn | & 2w - od gafem 2@

(a) IeTaUiihRim P EER
(b wffety e EEE L
(c) Tepedter T
(d) MR 99

Fieafafiga § & FH-w v T W R 2 7
(a) TTEAR Felte

(b vt o

(¢} et wrast

(d) Iuii=d | | w5

T, = 9 F G | Iedtan B 8w g
Wﬁ‘%ﬁiﬁ#% w2 2

(b} THTEA EIEEHISS
(d) fodm

T H#R Eee (HE.uE.) W aEEE
T 7 Pyeffes fen e o BE g 7
(a) UitE () % fe@t

(c) T (d) =ETH



NJL-1-19

29,

30,

31.

32,

33,

The First Union Territory of India to run 100 percent
on solar energy is

{(a) Andaman-Nicobar
(¢) Diu

() Chandigarh

(dy Puducherry

Girven below are two statements. one 15 labelled as
Assertion (A) and the other as Reason (R).
Assertion (A} : There 15 a positive relation between
Human Development Index (1) and Sustainable
Development Goals (S1I0G) ranking of Indian State.
Reason (R : The underlving dimension of SDG wrgets
are closely related 1o education and health aspet,
Select the comect answer from the codes piven below
Codes :

(a) Both (A)and (R) are true and (R) 15 the
comect explanation of (A)

Both (A) and (R) are true but {R) is not the
correct explanation of (A)

(A)is true, but (R) is false

(A) 15 false, but (R)is true

(b)

()
fcd)

Multidimensional poverty index includes :
1. Health
1. Education
Hi. Living Standard
Select correct answer from the codes given below :
Codes :

(a) Cnly n is correci
{e) Only i and i are comect  (d) i, ii and ui are correct

(b) Oinly i5 and iit are comect

Arrange the following events in chronological order
of their commencement and select cormect answer
from the codes given below :
I. Wild Life (Protection) Act

I1. Biological Diversily Act

I1I. Project Tiger
[V. Project Elephant
Codes :

(ay T, II HI, IV

(c) I, I, TV,l

(b) I, 11 TV, II
(dy IL. IO, I, IV

Under the Civil Registration System (CRS), it is
legally mandatory 1o register birth and death events
within how many days in India ?

(a) 15 days (b) 21 days

(c) 26 days (d) 30 days

i35

A= & e o # R v ) e () 7
gEt T FRW (R) Har mam @
AT (A) : 7S [RTE Hami (v # g
mad FereRT el (vm € o) m mmham
=gl it afla § garers Gay |
HAU (R) : UF SF 5l @& & 9T A fig
vd TR ¥ afEd & oary stadafe g

fra fam gu el 4 @ vt I af

e :

(a) (A)TYT (R)ZHI #81 £ U9 (R)F4 (A) 6
Hel sumE 2

(b) (A)TT (R)FHT Hel & WId (R) T (A)
(c} (AyEh B, feeg (R) e 2

(d) (AyTera @, Thg (R)HE 2

T Ftfr qert  wffm d g
T == [ E o2

i, firem

iii, sfEA-=1

HE -
(a) e | HEl 2 (b} Fae i 3 i T

(c) et | A i EE E () i AW EA T
frefafisa wenadl = 379 Uy % FrergEs |
e # v A Ry 5§ & wd am R
[[. 9 fafaum s

I1l. W2 2R
v, "ierge grefi
Fe

(a) I, I0, 10 IV
(&) IL IO IV, |

e R TRl (CRS) % siafa R
Eﬁﬁnﬁmmaﬂnﬂﬁwﬁmﬁ
e Fu S w9 @ whEd g e
(a) 15fed (by 21T
(c) 26f (dy 30f&

(b} I IIL TV, IT
(d) 11, I 1, IV
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Naticnal Family Health Survey (NFHS) - 3 does
nof inclede
ra) High blood- pressure (b) Diabetes

(o) HIV Test (d) Registration of death

ve (ERC)

The Erwtrcm|m:ui'a1 Kuznets Cur
apita GDP

hows the relationship between pet C
4nd environmental [ass.
Environmenta| Kuznets Curve ?

ed ‘U* shaped (h) Invered V' shaped

shaped (d) None ol these

{a) Invert
() Inverted L

Given below are two statements, One is |ahelled as

Aszertion (A) and the ather as Reason (R,
Assertion (A): Gustainable dovelopment 15
important for well being of human soiciely.
Reason (R} : Sustainable development is a
Lind of development thal meets ihe necds of the
present withoul eo mpromising the ablity of Tuture
genarations (o mect their own needs.

Galoct the comect answer from the codes aiven below

Codes :

(&) Bolh (A) and (R} are true and (R) is the
correct explanation of {A)

(b] Both (A) and (R) are trug but (1) is not the
correct explanation of (A)

(¢} (A)is true, but (R} 15 false

(d) (A)is false, but (R is true

Which of the lollowing Direct Benefit Scheme

‘DBS) has been recognized by the ‘Guinness Book |
of Warld Record” as the world’s largest Direct i

Benefit Scheme ?

(a) MGNREGA

by PAIIAL

(c) NSAF

(d) Mone of the above

With reference to the National Food Security Act,
which of the following statements isfarg correcl 2
1. It will cover upio 75 percent rural and 5 percent
urban population.
11. Special focus on nutritional support (0 wamen
and children.
Eldest woman of above 18 years age will be
head of household.
Select the correct answer using the codes given
below -
{a) | and II are correct  {(b) [T and I are correct
(¢} L 11 and III are correct {d) MNone of these

i1

What 15 the shape of

34,

30,

37
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38.

5 ferifeta

et afan = Tredequ (NFHS)
(a) = 1da-T9™
(c) T, s, it wite (d)

(b} ﬂ'_'ih?- |
med 7 A T

qfaofia FAH T qagfaf mf et mﬁH
- & iff & 7 Sy ez Bl 3H Lqﬂfarrrﬂa
g e am Wl 3 - ToRm TERIT R EAl 2 7
(a) 371 g AL (D) 3wl 'Eﬁl I
() FFa T FHRC () i @ HIg AR

Fr2 B e B e 3 e T ) R (A) AT
afl’taﬁ“rzmm{mﬁﬂﬂm 2l
e (A) @ Hd faapr|l WTAd HHTS

qEeayYl ¢l o .
= (R) e fas o wfirgre | fasE o E,

ﬁmﬁﬁ%ﬁﬁaﬁﬁ@ﬁhﬁrmzﬁrwﬁﬂ
ﬁ;&ﬁrﬂaﬁmmﬁmﬂuﬁ{ﬁﬁl
-ﬁﬁvﬁﬁﬁﬁﬂﬁmgﬁﬂz

ﬁa.

(@)

e T L

(AT (R)EHT a8 T Ry (A)H el
= &

(b) (A)FE (R)EH T & g (R) e (AR TE
©) (A)EE &, T (R) Td B

(d) (A) TR B, W (R) T B

(a) 0T (MGNREGA)
(h) T8a (PAHAL)

(¢) uA. TE. w.dl (NSAF)
(d) 390Ha A | FIE Ad

ooty w g sfufam & gef 4, st

wAl A wi wE 2R T

[ =% 75 sterera omor 3tk so afowe s
FEE S wreatien i

11 ofeensd] o gedl &l 99y g4t GeEga)
fom e 2

L 15 ad 3 & sifus & wed wdt wfgen ahEn
=7 qigar gt

(a) 13N E (b)) USNTUIHE 2

tc) Luaftmrgd § (d) s & i TE
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10, With reference to the measures of Tenancy Reform o
L sl = 1
i India. which of the statements isfare correct ! thed HRl &/
|. Regulaton of rent i
2. 3l = Heen
2. Security of tenure i |
3. TEETH W EAT 1 e

3. Confirment of ownership on tenants

Salect the correct answer using codes given beluw .

{a) I only
() a1 3l 2

() e 233

(¢3 2and 3 only
(d) 1,2and3 (dy 1.23W3

(hy 1 and 2 only

30, With reference to the functions of Public Sector 40. Wﬁmﬁm ﬂﬁfﬁ?ﬂﬂ%ﬁi‘iﬂ.ﬁqﬁrﬁr
in India, which of the following stsements isfare § § wF-1 FUT AR &/R 7

correct 7
[. To provide public unlity resources 1 mTEEE A it it 4 = s
[ To build secial and economic overhead capital ! = rr g o
11]. Toensure balanced regional and sectoral growth Il Ei'i.[léi” A1 ﬁ o =
IV, To pursue egalitarian goals IV, SHAETE e $i 3 TG
Sclect the correct answer using the codes given e fem Rl E!:—,:ﬁ % & "El IH gﬁq :
e (a) 1,103 I wet &
() I, I and I are correct
_ e e (b) 11111 31V @t
(B3 II, HI and IV arc correct , = £
(e) LI, 1T and IV are correct () LILIEFT Y Hel
(d) LIV eas 8

(d)y LI and I'V are correct

41 ﬁwmm‘aﬁmﬂﬂwﬁ?ﬂ?ﬁﬂﬁ

lying from North to South direction is I ST HEl W & ﬁﬁﬁﬁ %
() Lake Timsah — Little Bitter Lake — Great (@) ?ﬁ fm - forfemt ez o - | |
Bitter Lake — Lake Manzala o
- — , by it faer o - f o - T
(b) Great Bitter Lake - Little Bitter Lake — Lake {b] ﬁTﬁ?’ﬁ feafeet faet
Timsah — Lake Manzala ) £ A
(¢} Lake Manzala — Great Bitter Lake - Lattie S
Bitter Lake — Lake Timsah o Eail =
- - {d}ﬁﬂ'ﬁm—ﬁﬁﬁiﬂﬂ‘i*ﬁﬁﬁﬂ#
(d) Lake Manzala — Lake Timsah — Great Bitter P
Lake - Little Biter Lake A "
42. Telegraphic Plateau is a part of 42, oefimfiee van fewer 2
(a) I UEATCh Fe B

{ﬂ} North Atlantic Ridge
(b) South Atlantic Ridge (b el veaTies Few F

':ﬂ) Iﬂdlﬂl‘l 'Dl'.‘tﬂﬂ Ridge () f%a HETATR e &
£ Homc of these (d) T B
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Match List = | with List = 1 and zelect the comroet
answer using the codes given below the lists -

List =1 List — 1]
{iflerent name {Country)
of tropical cyclone)

A Willy-Willies 1. Philippines
B. Taifu 2. Australia
C. Baguio 3. Japan
D, Hurricanes 4. U.SA.
Codes ;

A B C D
fa) 3 4 1 12
(B) 2 32 4 1
(e} I 3 2 4
dy 2 3 1 4

Which one of the following cities 1 NOT located on
the Trans-Siberian rail route ?

fa) Kazan (b) Omsk

() Soch (dy Chita

Which of the following 1 NOT correctly matched |

(Wind) (Country)
(a) Santa Ana California
ib) Haboob Sudan
{c) Yamo Japan
(d) Mistral Australia

Match List — § with List — [T and select the correct
answer using the codes given below the lists

List -1 List — 11
(Coal Fields) {Located)
A. Talchir . Damodar Valley
B. Karnapura 2. Son Valley
C. Singrali 3. Godavari Valley
0. Singreni 4. Mahanadi Valley
Codes :
A B C D
(a)y 4 1 2 3
by 3 2 1 4
¢y 2 4 3 |
dy 1 3 2 4

N.ll,-«] . ]u

43 - g - 1R e b e s o e e
I FE A ARl 3 A LR R

T -1 L
(FurreR it = o (3mm)
A faet - Tafera I, ﬁr.;—Erfrg
B. & 2. smfinn
C. @Rl 3. WmH
. Bt 4. UET,
e :

A B C D
@) 3 4 1 2
by 2 3 4 |
ey 1 3 2 4
) 2 3 1 4

44, Trrfafigs ® & S~ T AR AEsiEeie T
. moaEemas g 7

{a) o (by 3TTER
() @ (d) faem
45, Pofafm o sn-m ol A ad & 7

() (&)

(a) HTAT 371 Hrerfm

(b) & HEH

) Tl EIVIE

(d) g TR e

46, Tt - IR - 1& gifem i mn afed & R
-1 T - 11

(TR &) (aratetd)

A. et | Errer 9l

B. HUT 2. @ O

C. formiEh 3, aieradl |Tel

C T
A B C D

(a) 4 | 2 3

) 3 2 | 4

¢y 2 4 3 |

id 1 3 2 4
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) : o S loeated in
47 Which one of the following peaks is NOT locae
Indsa 7
(o] Giorla Mandhata
(b) MNamcha Barwa
(e} kamet
id) MNanga Parbat |
48 The winterrains caysed by Westem diﬁlllﬂ‘bﬂ]‘!ﬁ"ﬂ In Neath
Woestern Plain of India gmdh:iﬁ:r‘ decreases from
{2) East to Wosg
(b} West East
(€] North 1o South
(4} South o Nor
9. In which of the following fvers, tlye Upper course
contains fresh water but saline watey owing at the
lower par
(a}) Barak rjvepr
(h) Luni rives
(¢} Ghaggar river
(€] None uf the 2bove
30 *Moribund Delta’ iz g subdivision of whic of the
ﬁf]limv:ing Deltg ?
(a) Hri&h.na—Gnctawazri Deles
(b) Mahanad; Delta
{c) Bengal Delyy
(d) Cauvery Dalyy
3. Given ‘i}:;!nw are twi Statemengs, ONE is labelled 45
Assertiog (A) and the othar 35 Reasqy (RY.
ASsertic Sugarca
i5 ) lﬁﬂﬂ:i”‘} e | nﬁﬂm“-ﬁﬁrpmﬁummmu P
MEre than Maharachir, but Productivipy g lesg
Reason ; )
ok (R) : Most of -thl.:: SUBRT factories i
‘anardshirg gre jn Cooperatiyp SeCtar,
Codes ;
(3} Both (A) and (R) g
tplanatign of (A) Jis the Correct
(b) Bath {aﬁ.,]-;gmjm:,
e Are true, hyy (R)is i
Cxplanation Of(A) - roect
) e e, b (R g
WA s false, by (R} is trye
2. Which of th
I':F'I-'lrl ¥ [ R
(@) Dam b c:mr‘:":”ff Matched 9
(b - C'UF'FEI el THTY
) D‘Ei«d] RE'&'ﬂ -
() D'iwan Rey s ?ﬁny&[ﬂf
W) Jarip “UE Chief UL 3 provinge
Ly pe OF 1y

-1

47,

48,

49,

(),

al,

iy

Fefafan o A - us g9
TR P

(2) Jreil HI-GTd]

(b :rm?n ]

(¢} T

(d) 7 T

mﬁ:'mfrﬁfﬂtﬁﬂﬁﬂﬁqﬁﬁﬁﬁf@wﬂ 1
(1) iﬂﬁqﬁmﬁ 3#‘

(b) wivem & of ) s
(c) I H haw i s
(d) e O 3ay £

Freifefias & 3 Fﬂqﬁ%mqﬁﬁmﬁf
mﬁﬁaﬁwﬂm’iaﬁwmﬁm%i
(ay == T
(by = =<
(c} WM 3
(d) Eﬁiﬂaﬂﬁﬁaﬁéqﬁ

A R 1 X R e—— 5
P (R): 7T § 3o <t ol e
T wofm &

%.

(a)

()T I (R ) 2t e
FET (AVR T ey 2 el
(0) T Ay et vy (R)3HI ot g G ¥
FAT (AR TR sy 7 2
- Tehe] SHRUT (R) TTEA &
e oo (R W
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56.

Mateh List — 1 with List — 11 ang ga
. . oy tl ;
answer using the COdes mivay hc]:‘uf*u
List -1

lhe COTEL|

List — 11
AL Mulla Dand l. Chandg

: i ¥an
B. Damodar Kavi 2 Ashiga
C. Som i
o Af}”ilﬂ?é: 3. Padmavai; Katha
ih IMIF Bhusro 4, R; i

- Rag ¥
o g Vibodh

A B C D

(a) 1 3 2 4
(h) 1 3 4 2
c) 2 4 1 3
@) 1 2 3 4

Who among the following kings had given
patronage to Tansen befare Akbar

(a} Raja Ramchandra Singh of Bhata
(b) Rajbahadur of Malwa

(¢) Uday Singh of Mewar

(d) Muzaftar Shah of Gujarat

Match List = T with List — 1 and select the correct
answer from the codes given below the lists :

List =1 List = II
(Ruling Dynasties) (Capitals)
A, Pallava 1: Warangal
B. Pandva 2. Kanchi
C. Yadava 3. Madura
D. Kaktiva 4. Devagin
Codes :

A B C D
(@ 2 1 4 3
(b) 2 3 4 1
(¢) I 2 3 4
d 2 4 3 1

i« in a chronological

Amange the following monumen .
Tange | L) K fro 11 the codes given

order and select the COMmect answer
below

I. Rabia Daurani's Tomb, Aurangabad
I1. Shershah Suri's Tomb, Sasaram
I1I. Humayun's Tomb, Delhi
[V, Arala Mosque. Jaunpur
Codes :
ta) LIL IV, I
ey I, L, 1L, IV

(by IV, I1, 1, |
(d) 1L IV, L |

hE

2

54,

30.

NJL-1 =1

(7 e fif 3 s femr TV
1™ HHIT ,

gt -1

gt - Rt e -1
HEt - |

\ et T B (LG
B. TIHIGE i 2. —
@y AE cragfer °
E}_ FHIT HU 4 T ATy
T
A B OC 1
m 103 2 4
by | 3 4
@) 2 4 | 3
) 1 2 3 4

Preferfora Tl A 9 fee areRat o 4 ATET
Tl e fom w1 7

(a) W1 1 T TR THE

(b) WTEET &1 TAHEEL

(c) HaTg = I3 fhe

(d) TR 1 PR T8

e — 1 Rt 11 gifer B o g % A

e~ 1 et T
(Traren ) (TraruTt)
A. ST l. =
& He 2. i
D). TihATY n Eﬁ
e

A B C b
(a) 2 | 4 3
b) 2 3 4
ch 1 2 3 4
dy 2 4 3
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s 1

3

G,

o
iC i i-;':'_,
: 11 % '.: 'IiillhﬁL. h |ﬂ l
Ference [0 :"r-f.ill‘lﬁillliiilﬁ: ) SIC T,
1|1|."i5'[[-'| pelersnLL _

! . 'II.[.E.L:[ ';‘I LR [ _
sLafemenis 1Sane L e the a;’|!-ﬁ¢.'i':3| n.;ﬂjllﬂ} of
| Mansatsdars gyslent wis i
: il
he state, staried by fﬁuhh--:l-
2. A Mansabdan was |Ifﬁf!'ﬂ’ﬂ'!‘-ﬁ R
Sefect the coerech 40st s psing [he LOBES 5
clect the coare
bel 0w |
Codles |
{,Tﬂ] only ihi Hoth | qnd 2 .
:l:] 2 U‘ﬁt;’ nl Neither | nar 2
¢l = i St
Match List - T wilh List - 1| und scieet l]?e_. correct
Jpswer from the codes grved bheliow the 11515
I.ﬁi"-lI-' = 1 Liﬁl == I]
5 b
A. Treary of Allshabad 1, 1782
. Treaty of Manglore 2, 1784
. Treaty of Salba 3. 1769
D. Treaty of Madras 4, 1765
Codes :
A H C D
(a) ¢ 2 3 |
by 2 4 3 |
(c)y 4 2 1 13
iy 2 4 1 3
Arrange the following events in a chronological

arder and select correct apswer from the codes given
helow ;
1. Poona Pace
[T, Gandhi-Trvin Agreement ,
[11. Cripps Mission
IV, Civil Disobedience Movement
Codes :
fa) IV, 1L,  HI, 1
thy B, 1V, [, 1l
(c] 1V, I, I, 11
id)y I 1, 1V, I

With reference to the Civil Administration in 1903, |

which of the statements 1sfare cormect 7 '

I, Lord Curzon decided 1o rearrange the
provincis! boundaries.

I. A mew province was constituted, called East
Bengnl and Assam.

.E#;]h:n:l the correcl answer using the codss given

clow :

(a) | anly (b Both | amd 2

Leh Zonly (d) Meither | mor2

-11.

57.

58.

59.

(00,

mmﬁ?ﬁfﬂﬁﬁ%ﬁmﬁ. En‘al:i-—miﬁmggm:
[ p—c R R b
oy, Pt ot T SO |

) w1 9E 95 A

E!;TE

I:I.i:_:I ﬁﬁ?‘]
(c) e 2

1 @ e 1 & g it o

Heil -1

A zETEER I Al

by 13 2gE
(d) g1 afAd

B. TN 1 HY 2. 1784
. §TeTAT # |l 3. 1769
1765

n. "ere # Al 4
e

A B C D
(a) 4 Z 3 |1
by 2 4 3 l
€ 4 2z -1 3
d 2 4 1 3

et s ) s A e

st o A1 o A 8 @ e I A
I T S

1. i -3 T

1. e fa

ehe :
I:EI'} I‘Il"l‘l I.], ]II_I 1
() V. L, LW

{

TR I 1905 3w #Aﬂraﬂﬁiﬁ
| T w3 widtg dhwnsd w1 GO0

Fofa feran o

2, i doer st s e o

(a) S | 1,h}laﬂ11?fl'ﬁ 1

(c) % 2 @ ar g d’
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Who prepared “C g |

fra T I_h L3}
political deadlock b_tlw;';fHUIu l
Indian Nationa] Congress 9 &

(a) Jawaharlal Nehgy
(b} Rajgopalachar
(¢} Chittaranjan Dag
(d) V. P. Menon

0 remove (he
Muslim League and

‘The Rize and Growth o Economic N

[ndia" was written by atonalism in

(a} Partha Sarthi Gupta () 5, Gopal

(c) B.R. Nanda (d) Bipin Chandra

[n which of the following
protection and improvement of environment and
safeguarding of forests and wildlife' are found in
the Constitutinn of India 7

(a} Only in the Directive Principles of State Pol Iy
(b} Only in the Fundarmental Dulies

(¢} Both {a) and (b)

{d} Mong of the above

With reference to Panchayats which of the

statements 1sfare cormect 7

1. Fifty percent seats shall be reserved for the
women of SC/ST categones.

2. Gram Sabha is a body consisting of all persons

liwing in the village. |

3. There will be a Panchayat at intermediate
level.

Select the correct answer using the codes given

below :

Codes :

(g} | only

(¢} Hoth I and 2

(b) Zand 3
(d} 3 only

Mazdoar Kisan Shakii Sangathan (MKSS), a Social
Movement has been associated with which of the
following in India ?

(a) RTE Act

(b) RTI Act

e} MGNREGA

(d) National Health Mission (NHM)

National Social Assistance Prog
include the following scheme for
Line" households

{a} National Family Benefil Scheme

b} Annapuma |
'c}) Mahila Kisan Sashaktikaran Paniyojna
'd) All of the above

‘Below Poverty

-13-

Hgl B |
the provisions for the |

ramme dogs not

61,

2.

3.

4.

B o3 el
Yo = T T
() e Al T (1) gﬁﬂ -
(o) @l 3L T (d) |
¥ fargw rqmﬂ!ﬂ

(d) IREEA § ®# FE AR

et w3 Frer & F-w e w2 7
= ER # |

A 120 ™ 2 M e g S g .

T

() FEw |

(c) 1Tem 2 2

by 28w 3
id) HEE 3

1 HTE (MKSS) T armf
ST, ¥ P & o i “%“T?ﬁ

() T (MGNREG Al
(d) T Trey figg (NHM,



A

i

(3.

iy,

WT'[}' l"flﬂgﬂ'fﬁ"lj "E{..:E Formula™ to remove the
ﬁud;;::cﬂmtiziﬁl%{angli:; Tn i League and
(a) Jawaharlal Nehru

(b) Rajgopalachari

(c) Chittaranjan Das

(d) V.P.Menon

“The Rise and Growth of Economic Nationalism in |
India” was written by

{a) Partha Sarthi Gupla (b) 5. Gopal
(c) B.R. Nanda (d) Bipin Chandra

In which of the following ‘the provisions for the
protection and improvement of environment and
saleguarding of forests and wildlife” are found in
the Constitution of India 7

(a) Only in the Directive Principles of State Policy

(B) Only in the Fundamental Duties

(c) Both (a) and (b)

(d) None of the above

With reference to Panchavats which of the

statements 18/are correct 7

|. Fifty percent seats shall be reserved for the |
women of SC/ST categories.

2. Gram Sabha 15 a body consisting of all persons
living in the village.

3. There will be a Panchayat at intermediate
level.

ﬁclle-ct the correct answer using the codes given

elow :

Codes :
(2} lonly (b) 2and 3
(c) Both 1 and 2 (dy 3 only

Muzdoor Kisan Shakri Sangathan (MES5), a Social
Movement has been associated with which of the
following in India ?

{a) RTE Act

(b) RTI Act

() MGNREGA

{d) National Health Mission (NHM)

?’*ﬂﬁmna] Social Assistance Programmc does not
include the following scheme for '‘Below Poverty

Line" households

(2) National Family Benefit Scheme

(b} Annapurna

() Mahila Kisan Sashaktikaran Pariyojna
(d) All of the above

NJL-1-19

6. FfEam = m arhe v we & b
wraHifeeR TRy W g wA  fem - e am
wigar fires s oy
() FATEAEATE AEE
(b) TrTTETE
(c) Fawt== g™
(d) =t i, =

62. 2 Usa Uug WY AT TEATE IR W
gfizar & Si@w o
(a) o meff
(c) #. ETI'{W

(b) TH. MO
(d) fefim ==

63, Ta=fefigs 4 8 e < gfRuE 3 e gafam
HUEW U ot 7Y7 94 J 9w SEq 1 T &
WEYT 9 A1 # 7
(a) HaEw T F e Fewe ae o
(b) e g ored o
(c) [3.]'3m{bjlﬁ
(d) 3T O ° = 3

64. amd & el U i H © - e w28
1. = whowa #e g =) st
o -l it afgenadt % foau smiia g
i & &
3. HerEdHl W T UF 9=Ed B
ﬁ%ﬁqm@mﬂﬁ'ﬂ?ﬂ?ﬁﬁﬁﬁﬁﬁﬁﬁ

FE :
(a) Hae | (b) 2@41 3
(c) Laur 2gM (d) %A 3

65. W [ohET TfET T1Ed (MKSS) T0% FTmThe
arered, aia § frm | frod defum 2 7
(ay IAZ wfafam
(b) A .amE. srfufm
(c) WFEM (MGNREGA)
(dy T = i (NHM)

66. T T wEmm wdwn § e T 3
4 % fom s sdwy aimfae A 2
(a) U THIT T FEES
(b) =g
(c) =ften fsama awiFmmm aieemn
(d) I Tl
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08,

6.

70,

71.

72

Who said “India is a Quasi-Federal State” 7
(a) Lord Bryce (b) Ivor Janmigs
(c) H.J Laski (d) K. C. Wheare

Arrange the following events in 2 chronological
order and select the comect answer from the codes
given below ‘
I. Maharaja Hari Sirgh signed the Tnstrument of
ALcession,
[I. Constitution of India was enforced.
ITL, Accession to India ratified by the Sovereign
Constituent Assembly of Jammu and Kashmir,
IV, New Constitution of the State of Jammu and
Kashmir came into force.
Codes :
@y LLIIL IV, I
{c) L IL I, IV

(by 101, IV, 1, 11
(d) IV, I, 10,1

Given below are two statements, one is labelled as

Assertion {A) and the other as Reason (R),

Assertion (A) : The Supreme Court of India has

exclusive jurisdiction regarding Constitutional

validity of Central laws,

Reason (R) : The Supreme Court is the Guardian

of the Indian Constitution.

Seleet the correct answer from the codes given

below :

Codes -

{ay Both (A)and (R} are true and (R) is the
correct explanation of {A)

(by Both (A) and (R} are true but (R is nol the
correct explanation of (A)

(c) (A)is true, but (R) is false

(d} (A)1s False, but (R) 15 true

National Panchayat Raj Day in India is celebrated on
(2) 26 January (b) 2 October
(c) 21 April (d) 24 April

Which of the following Article was
the 42" Constitution Amendment 1o
participation of workers in manageine
(a) Article 38
(c) Article 45

inserted by
provide for
n?

(b) Anrticle 394

(d) Article 434

What 15 the legal nature of
Constitution ?

{a) Itis enforceable

{b) It is not enforceah|e
(c) It may be enforceg
(d) None of the aboye

the Preamb]e of the

N Special cirey mitances

-14-

B8,

i

Tl.

72,

LT T

T T, AT U 37 - T R g

(a) TS High (b) 3mEat A
(© Ea. wEh (d) FH. Ew
Frer e ) e U A Hifm oy,

12 feo wdi 1 & ) W AL
[nﬁﬁTllﬂ]ﬁﬁ'ﬁiﬁﬁﬁlﬁﬂﬁﬂEﬁﬂmﬁ;{!
[, WA = wiaH A e |

1. Sy ) WA HREUE T Yy,
%ﬁ waeifea fema |

[V, T AT e T T HEE @6
LT

(a) LILIV, I
(e) 1,11, 1L IV

£ 9w fou o E T U SRR (A) T

ZEt 1 FWO (R) HE TR |

FUA(A)  FE T w1 AT A & wa

O 9N  Hars ey #5378 sfaefm

AU (R) - TE e =R R O 5 T

E T

(a) (A)T(R)SHT Tl B 791 (R) FUF (A) R
HE| SATEAT §

(b) (A} {R) ST 6El B 9 (R) T2 (A) &
Tt =umEn T8 2

fe) (A)EE B, g (R) 1o 2

(d) (A) 7o &, g (R) ot 2

ﬂmﬁu@awa#mﬁwm:ﬂm%
(a) 26T =) (b) 2 I
(c) 21 374s =t (d) zamﬁag

(by TILIV.I, 11
() IV, LI, 1



|IMIIIHHII.IIHIIII||||I||I]EI|

T3

)

T8,

LiR

which of the following is corect about the headin g
of the Article 162 of the Constitution of Indig 9

(a) Executive Power of State
(hy Conditions of Goverpor's Office
(cy Term of the Office of Goverpor

(d) Extension of Executive Power of Stare

Which of the following temples
Khajuraho of Vidarbha 7

i5 also known as

(a) Markandeshwar (h) Kailash

(] Manudevi (d) Bhimashankar

Match List - T with List - IT and select the correct
answer using the codes given below the lists -

List -1 List =TT
( Typhoon/ (Most
Hurricane Augusi- affected country)
September 2019)
A. Dorian l. Bahamas
B. Hagilis 2. Ching
C. Lekima 3. Jeju, South Korea
D. Mitag 4, Japan
Codes :
A B C D
@ 1 2 4 3
by 1 4 2 3
ey 4 2 3 1
d 3 4 2 |

In October, 2019 India announced to establish a
High Commission in which Afnican country ?

(2] Benin

(b} Gambia

(c) Guinia

(d) Sierra Leone

According 1o NIT] Aayog which of the following states
is al the top in the India Innovation Index 2019
(&) Tamil Nadu (b) Maharashird

() Haryana (d) Karnataka

T3,

7d,

13

6.

Y,

N‘IIIJ'I - l'}

WA 5RUE F 30T 162 9% i & iy
de i aR-mad o

(a) T =t wrdaifer wfEn

(b) T=UTE & waieE o

(c) U=ITE 1 gErEiy

() =g i wEmleE wfd w frean

frifafen & @ frm tfs #) et & wa &
w7 8 ¥t T AR 7
(2) SIERVETET (b) e
OREC] (d) TR
o - 1= el - 1% Y gl fif ol
-1 qeh-1
(ETEE raerifess i &)
v~ ey 2019)
A. BIfEA l. =ETE
B. #fadia 2, ¥
D. fiem 4, FH
F:
A B C D
a3y I 2 4 3
by | 4 2 3
c} 4 2 3 1
d) 3 4 2 |

FagEt, 2019 A 3 fem snfrht m A o
F=EEM #G F g 2

(a) A

(b) Tife

{ﬂ'}Tﬁﬁ'ﬂ]

(dy T st

A1 ™ & IER, W § T gEw 2010
i Fr=fifan 4 & w9-m v wide g 7

(a) AMEETS (b) HEATE
(c) ®famm (d) Tes
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T3,

/4.

5.

.

174

Which of the following

'S correct ghyy
of the Article 162

[ the headipp
of the E‘nna:ituzinn )

of Indig 2
(a) Executive Power gf State

(b) Conditions of Governgr's Office
() Term of the Office nf Governor

(d) Extension of Executivea Power of Sape

Which of the fo Howing emples is algy known gs
Khajuraho of Vidarkhg 2 |

(@) Markandeshwar () Kailash

(c) Manudevi (d) Bhimashan kar

List -1

List = 11

(Typhoon/ (Mast
Hurricane August- affected country)
September 2019)
A. Dorian l. Bahamas
B. Hagibis 2, China
C. Lekima 3. Jeju, South Korea
D. Mitag 4. Japan
Codes :

A B C D
@) 1 2 4 3
) 1 4 2 3
c) 4 2 3 |
(d) 3 4 2 |

In October, 2019 India announced to establish a
High Cornmission in which African country 7

(2) Benin

(b} Gambia

) Guinia

(d) Sierra Leone

According 1o NITT Aayog which of the following states
I5 at the top in the India Innovation Index 20197

(3) Tamjl MNadu (b) Maharashtra

¢} Haryang (d) Karnataka

15-

73,

4,

73

16,

7.

NJL-1 - 19
WA AT F sy 162 % tfidw % mapyg
i e A SR-m w2,
(2) T ) =webofere iy
(b) TTE % wETe % fd ord
(c) TS 1 ygEly
(d) mﬁWﬁmefﬁm

ﬁﬁﬁ@aﬁﬁﬁﬂﬂﬁﬁwﬁ%ﬁ%w#
w0 5 ot A e
(a) TTRTETET (b} ham
(c) W (d) e
@‘I-Iﬁmﬁﬂllﬂﬁmgﬁﬁaﬁﬁmm
W%ﬁﬁumﬁﬁaﬁmgﬁq;
et =1 -1
(T /G ek (eratfire snfam 3m
e - e 2019
A, EfEA |. =Emrg
B. #fseg 2. =i
C. wfFm 3. 9, gt =it
D. fem 4. FME
ETF
A B C D
@ 1 2 4 13
by 1 4 2 13
) 4 2 3 1
d} 3 4 2 1

FHRH, 2019 F WRa I Frm amE 3m A sy
ISR TR o 6 2

(&) CIET

(b i

(c) T

(d) fom fas

%W%m@ﬁ,wﬁ?-m@mﬁznw
ﬂﬁﬂrﬁiﬁaﬁﬁﬂq-ﬂwmaﬂﬁw% 7

(a) Aftremg (b) TR
(¢) Efmo (d) FATT=
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78,

79,

81,

8.

- 2019 hook s
The author of the Baoker Prize Winner 2

"Gl Women, Dther” is
(a) Margaret Atwaod (h) Elif Shafak

(€} Salman Rushdic (d) Bemadine Evaristo

Whom did P.v, Sindhu beat to wir 1I1r:vl’rr':;l:
c*er Gold Medal for India in Women's Sing

oA sk 0
Badminton Championship in the final match <
() Carolina Marin (b) 'Tai Tzu Ying

(¢) Nozomi Okuhara (d) Wone of these

Which hydropower plant in Bhutan was inaugurated
recently by Indian Prime Minister Narendra Modi 2
(2} Chhukha Power Plan

(B) Dagachhu Power p| ant

(¢} Kurichha Power Plant

(d) Mangdechhy Fower Plant

The boak Venushilpa' by Chitracharya Upendra
Maharathi relates 1p which of the followin E form of
ans !

(@) Jewellery

(h) Pairl-ting
(¢) Bambon art

(d) Marble Carving

Which among the following was the fipe
CIEanic state in the world ?

(@) Queensland (Australia)

(b} California (United States of A
(c) Sikkjmilndia}

(d) Quehﬂﬂ{ﬂana{la}

€rica)

(a) Badmintop

(&) Digey,
(¢) Shot pup s

oy
(d) Wf;ight Iif!ing
United Nations Clim
held at which of
{a) Parisg

(€} Doha

ate r“nttiﬂiﬂ 1'li|'|"ll’l1i1 2
the fnl]wa-in;;; Ciljpg |

{-h} GE“EFE

0lg Was

@ New y,,,

19,

80.

&2,

81,

B,

(2) T faegm whegem

(b) Ty ferem aedrer

(©) FHaT forgm wigam

(d) e farem wiegomn

TR R mEreh S
%ﬁ?ﬁﬁﬁzﬁwwfﬂh ;
(a) 3y CYREFE

(c) =TH = (d) TTOTm St Ty

ﬁnm?rﬁaé‘lmnﬁﬁ fr z*mmffﬁﬁ“ﬁ:'
T T A Rt e 8, v i & s
(a) Hafifs OR==

(d) WRIEH

ST 01 3 2 Ry vt 5 oy 7t 7

(a) dftg (b)
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Use of polished rice in hym ——— | |
. following disease = o the 8S. = men H mifem feeg KO, | & I @
0 i Mnaree -
. | ferifera T € e 2
(a) Beriben (b} Goitre | () by S
(c) Nightblindness (d) Cmﬂlll'blindl'mm (c] il (d) Bl

s, Which of the followi

N ehed 7 1§ pairs is NOT Correctly 8o, Prafafes 3 & F9-w g a8 aefea T8 8 7
(Vitamin) (Rich Source) (Fererfir) (STe =)
(a) Vitamin B, Rice bran (a) THaifem B UM = (7gE )
(b) Vitamin B, Cod-liver oil (b) famfim B, Fie-aga e
(¢} Vitamin E Wheat gperm ojl | c] faefim E ﬁi@ iG]
(d) Vitamin K Alfalfa (d) = K UEhHTeE
B7. Given below are two statements, one labelled s §7. 3 @ v fom o # e ww w wmE (A) T
Assertion (A) and the other as Reason (R). TEL 1 T (R) 61 T # |
Assertion (A) : Most of the vitamins are not T (A)  ShuEm i o ol 8 o
synthesised in human body. T:ﬁ ﬁ‘ﬁ{ = -E |
Reason (R) : Human organs synthesise only FU (R) : AHE 37 % Afar g de W
essential micronutrients. & T w18 § |
Select the correct answer from the codes given i e o ﬁE 0 # wft Iwt ﬂﬁﬂ, .
below : .
Codes : -
. | ) (AYEH(RYEH ®E B 3 (R) %A (A)H 8l
(a) Both (A)and (R) are true and (R} ig the @) glj':tmT%{ bl ®)
correct explanation of (A) _ o | . T (R (AR
(b) Both (A)and (R) are true but (R) is not the (b) ;‘Ew (K) g;ﬂ & ®) II
correct explanation of (A) N —
(c) (A)is true, but (R) is false | ‘1;} E"‘iﬁaﬁg'{ggg
(d) (A)is false, but (R) is true d} (A) '
88. Match List — I with List — II and select the correct | B8, TR~ 1 -9 gal <hif o qid & =
answer from the codes given below the lists : far m =7 & wE I g
List - I List - II et -1 T -0
A. Kevlar 1. Explosive A, THEET l. farwes
B. Taxol 2. Synihetic fitrs B. Zawe 2. Hveifia tm
C. Zinc Phosphide 3. gngf‘:m?:ﬂ:fmg | C. T wrowes 3, S ==
D. Nitrocellulose 4. Rodenlicide TR TrimeaEt
D- : ; 41 :
Codes -
B cD i A B C D
ay 2 4 3 | @ 2 4 3 |
by 2 3 4 | () 2 3 4 |
ey 4 3 1 2 E:iiz'féi
dy 3 1 2 4 B

5. A sample of any of the following substances 89. Frafefa & forft 3eg & a0 & ﬁ g
disappears afier sometime when exposed [0 air like E 58 HHA 9FHT] T B A R R Ry

camphor, naphthalene or dry ice. This phenomenon el %ﬁaﬁ; | 38 qfraeAl @l &Ed &
s called . 1) FE by AT

(a) Sublimation (b) Evaporalion ) @ E d} b

(¢} Diffusion (d) Radiation | (c) FerEm d I



90,

91.

91

Q4.

D35

The phenomenon used in optical fibre for
transmission of light energy is

ta) Total internal reflection

(b} Diffraction

{c) Scattering

(d) Refraction

Which of the following statements about
ENZYmes 1s/are correct 7
L. They are biocatalysts.
2. They perform their action on the sile where
they are produced.
Select the correct answer from the codes given

below :

Codes :
(a) Iﬂ-lﬂ:f' {h} :,m]:r'
(c) Both | and 2 {d) Neither I nor 2

Muother™s milk provides almost complete diet to the
new-born, but it lacks the following

{a) lron (b) Calcium
(<) Magnesium (d) Potassium

Arrange the following substances in chronological
order of their first syathesis in lab :

1. Black gold
2. Fullerene
3

Select comrect answer from the codes given below |

Codes :

(ay 1 2 3 4
(b) 4 2 3 I
c) 2 4 3 1
(d) 4 ] z 2

Bibliometry is

(a) Function of Library Network

(b} Information Management Service
(¢) Information Management Tool

(d) Library Service

Which one of the following is associated with
‘Albedo” 7

(a) Transmifting power

(b} Absormng power

{4:} Emissive pOwer

(d} Reflecting power

R

90, W FA s w1 wEm it o,

o IwAm g o e 8
{a) ‘{fﬂ&i‘lﬁﬁ%ﬂﬂﬁﬁq
REEGE!
(¢) T
(d) FTERA
91, v & wed § PrafafEad w9 0 R g
i R/R 7
| I € |
7 &yt A I T WA w e E ag
Fearfed w1d & |
A fou gu 2 B WA IW T ;
Eﬁﬁau (b) Fae 2
(c) 13f2aAl (d) T 13T H 2
92, i o g A = T T ITER TEH A 2, fig
gait Peffian = anma B g
(a) 8 (h) hivIram
(c) HETE (d) TrEfIEm
03. frofafaa gl &t 3 ge=l 9 sg9ere |
HYCAHY & HTCTERHTHT Sqaredd Hifag
|, Tt TiTre
E_F*hﬂ'—r
1. e
4. S
fi= fow w1 g2 4 | W I gfe
He !
a) 1 2 3 4
by 4 2 3 |
) 2 4 3 ]
dyr4 1 2 3
94, Teefergind 2
(a) THIHIeY 4eg% &1 =
(b) HE=AT WEwT Ha
(c) =T WaYq I
(d) T=IETEY w2y
9. Freafofn & 4 wha-m wdier & wafn § 7

(a) TN A
(b) =i wfsy
(c) Irmda mfeg

(d) =9t i oiggm
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b,

97.

98,

99.

with reference to the Deep Carbon Observatary (DCO)
which of the following statements isfare correct 7

1. It is Gl{.—.hﬂ.l Rﬂﬁ.ﬂlrﬂh Ffﬂ.gramme_ to outreach
role of earbon on earth.

-

It conducts field observations of deep
microbial ecosystem.

Select the correct answer using the codes given
below :

Codes :
(a) lonly
(c) Both | and 2

(b) 2only
(d) Neither | nor 2

Which of the following is NOT correctly matched ?
(a) Cartagena Protocol Biosafety
(b) Stockholm Convention Persistent

organic pollutant

(c) Montreal Protocol Ozone layer

(d) Kyoto Protocol Save water

Given below are two statements, one is labelled as
Assertion {A) and the other as Reason (R).
Assertion (A) @ Maximum number of the species
of butterflies are found in tropical countries.
Reason (R) : Butterflies can not tolerate low
temperatures.

Select the correct answer using the codes given
below :

Codes :

(a) Both (A) and (R) are true and (R) is the comect
explanation of (A)

(b} Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(e} (A)is true but (R) is false

(d) {A)is false but (R) is true

The amount of energy during transfer from one |
tropic level Lo another in an ecosystem |

(a) Increases
(8) Decreases
(¢) Remains constant

(d) May increase or decrease

Which of the following is associated with biological
nitrogen fixation ?
(2) Red algae

e} Green algae

(b) Brown algae
(d) Blue-green algae

40

6.

97.

D&,

. 99.

100.

NJL-1-19
welt e avemen (ELH.30.) & Hay | e
sl A A B A/ R/E 7
|. ug AfFas HEuE FEE gefl w e 6
sftrrt 1 3 @7 & fem R
2. 7E Tedl urgmiREm mitfeufft m & el
araeRT & form R

T
(a) waEe | (b) Haa 2
(c) |3 28 (d) Ad13mAd2

ﬁﬁfﬁ@ﬁﬁﬂﬂﬁ? mﬂﬁlﬁﬁ%ﬁﬂﬁ%?

#9 o wua fou g # T U @ A (A) T

ZHL ] HO (R) FE TR |

gatfies e § 9 S £ |

=T (R) - fafert o aome 8 =& 1§ w2 |

e

(a) (A)TUT (R)EHT WEl & 79T (R) FUF (A)H
o =T B

(b) (A)TET (R) 1 HET € W (R)FEF (A) =
HE =TS AR A
(A)FE & Foh (R) 7T

(d) (A)TEa & g (R) &t 2

TRt &9 & T Wt T A gEt i wm o
TUTAT=AT0 © Al i FHT

(2) wgat 2

(b) Hee B

(c) fRm et 2

(d) §E THdl & T AL THal B

ﬁﬂﬁiﬁmﬁﬁaﬁ:-mﬁhﬁm@mﬁﬂmﬁ
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101.

102,

103.

104.

105.

106.

Smog is essentially caused by the atmospheric |
présence of

(a) Oxygen and ozone

(b) Ozone and nitrogen

(¢} Oxygen and nitrogen

(d) Oxide of nitrogen and sulphur

The *Global - 500" Award is given for rare
achievement in which of the following fields ?

() Gene preservation

(b) Environment conservation

(c) Population control

(d) Pollution control

Black-hole is

(a) a Right recorder in aeroplane
(b) & spot on the sup

(c) a place in Antarctica

(d) acollapsed star

The most biodiversity rich area in Indij i

(a) Gangctic plain (b) Trans Himalayas

(c} Western Ghats  (d) Central India

Which of the following is a Nodal Institution for
implementation of Sustainable Development Goals
in India ?

(a) Planning Commission

(b) Disinvestment Commission

(¢) NITI Aayog

(d) Finance Commission

Arrange the following Committees formeqd for small
scale sector in a chronological order and select lhé
correct answer from the codes given helow -

. Nayak Committes
II. Abid Hussain Commiitee
HI. §.5. Kohli Committee
IV. Karve Committee
Codes :
(a) LIL IV, III
(c) IV, IO, 1. I

(b) IO, 10, 1, 1v

-20-

101.

102,

1003,

104,

105,

106.

I gy

Q3T () srayae w0 A argrea 1 fasfafe,
#t FafEafy & wro 2 2

(0) et &0 =AM

(b) 3N aun FggteE

(c) FTHHTHA A%l AI5¢la4

(d) TTEEIEH TUT HehT & HTFAIES

il aat § & Rred ge ImEf & fa
A - 500 e famm S 2 7

(a) FI= guam

(b) gafarn g

() TaE fagaw

(d) wgmor faerEm *

v~ T e 3

(a) TEEHETT F1 IZA H1 APES
(b) Hd T U= e

(c) FHzwida 61 um =g

(d) o=z T &m

(a) 7 & Do (b) gma femmem
(c} ufradt (d) 957 g

rferEa § 2 #-g1 vre § e frem wi
(a) TISAT 3T

(b) Taf=eam amegm

(c) i amat

(d) f& smam

aﬁﬁﬁrﬁ%%ﬁﬁﬁrﬁiﬂﬁrﬁ]ﬁﬁmw
L. A ghafy

IIL. U5, vg, =t ol

IV. 4 ghufy
E T

(a) I II IV, I1I
() IV, IL I, I

(b IIL 10, 1, v
(d) LI, I, v



I

gich I_.jE.‘t 1 with L]SE-—H and select the correct |
© gpnswer using the codes given below the lists -
 List-1 List - LI
i-‘-"f‘“ﬂﬁmm""} (Launch Year)
A ['-ratmnmlfmgrdmmc l. 1975
" for Control of Blindness
B. Imen:‘at&ﬁ Child UE%’t]ﬂpmgm 2. 1976
Lcheme
g H’atllz]ﬂdrl L‘EPI’UE}' 3 2005
Eradication Programme
D, MNational Rural Health Mission 4. 1983
Codes i
A B C D
(a) 1 2 34
b2 4 1 3
c) 2 | 4 3
)4 3 2 1

108,

109,

D

110,

'I‘IIIII|||ﬂ|||||||I.||'iII|

Given below are two stalements, one is labelled as
Assertion (A) and the other as Reason (R),
Assertion (A) : The labour force participation rate
felling sharply in the recent years for females in
India.
Reason (R) :

income and increase in education.

Select the correct answer from codes given below :

Codes :

(2} Both (A) and (R) are true and (R} is the
correct explanation of {A]

(b} Both (A) and (R) are true but (R) is not the
comect explanation of (A)

(c) (A) s true, but (R) is false

(dy (A) s false, but (R) is true

The Dependency Rativ in India is declining |

because

(a) Population of 0-14 years is relatively high

(b) Popelation of 60 years and above is relatively
hizh

(c) Population of 15-59 years i5 relatively high

(d) Population of 0- 14 years and 60 years and
above together are relatively high

Whichof the following Sustainable Development Cinal
(SDG) will target 1o water availability for all and its
permanent management Upto 2030 in India ?

la) SO - £
(b) 5DG -7
lc} SDG-§
@) SDG-9

The decline 1n labour force 1
participation rafe 15 due to the improved family |

%

NJL-1-19
gefl - 1 A - 108 ghlem AR aft gfm %
- e - 11
(FTHE) (i o)

A st Frmm ¥ T w1 1975

R, i e e T 2. 1076
C. e e e il 4 3 3, 2005
D, T s FEeE fiee 4, 1983
e :

A B C D
(a) | 2 3 4
pz 4 1 3
2 | 4 3
a4 3 2 1

|08, 1% 2w fog e E Ford o W FA () T

1 0.

110,

gwt, &) FA (R) FE T A

T (A): m%aﬁﬁmﬁmﬁ%m
mﬁrwﬁaﬁﬁmﬁﬁaﬁﬁﬁﬁmm%
FI0T (R) : wiitanftes a9 § gui @ ‘qﬁ
$ﬂmﬁmmﬁwﬁmﬂmnﬁmw n
= fau 2 § B T IWH T A

LEE _

ja) (A)THET (R)aHl w8 # 1@ (R)FUT (A)H
el ST 2

(b} (A) 7 (RyEAT TE & T (R)FUR (A) H
g ST AE R

(©) (A)FE 2, T (R)TEE B

(d) (A)TE B, T (R)EE B

wiH # fdTEr 3H9E (Dependency Ratio) 92 T&T

(a) 0-1499 HF FT0=0 FHaT [T 2

(b) 60Td 3% At <t SEE T WS §

(c} 15-5999 $ SaEm grieaa e 2

(d) 0-1499 3 60 7 vl <t F=Em
wEAE Fiuw 2

Pt @ & =9-m woq fam @8 (SDG)
uTE § 2030 9% ol & fou 9l & 3yema
I Todk vl yEya i w7

(a) T -6

(b) T 2t sh_7

(c) T S -8

(d) w0



mpﬂunc!f;d the concept of ‘Limit to

fp;}zSCD 0
drland (Commission

of persons who remained unemployed

umber :
Theo- art of the year is called |

112 oy a majorp
(a) Usual status unemployment
(b) Daily status unemployment
(c) Weekly status unemployment
(d) None of the above

113.  Withreference to the Corporate Social Responsibility
{CER), which of the statements isfare correct 7

L Eg‘mpani s Act 2014, introduces mandatory
R.

L. Companies covered under this will have to
spend atleast one percent of their annual
net-profit in the activities under CSR.

-E-:.llsua. the correct answer using the codes given
CLOW

(@) 1Only {b) 2 Only

(¢} Both | and 2 (d} Neither 1 nor 2

Ha. Physical Quality of Life [nd LI) iz
developed by ’ v
(a) Morris D. Marris (b} UNDP
(c) Mehbub-ul-Hag  (d) None of the abave

L15. Whatis the India’s rank i
(GHI} in 2017 7 rank in the Glohal Hunger Index

(m) 100w
(¢} 104

(b) 101t

(d) 1pst

116.  Match List - T with List — IT and select the g
rrect

answer using the codes o :
bt S EIvVen below the lists

. List -
feiﬁtm?n Type) [R?giﬂfllj
B b}rﬁﬁs 1. Ca}ifumia
a2 Meditermncan

Sea Coastg) |
C. Chaparral 3 o Bion
D. Matorra] s Couth Africa
Codes : e

A B

(a) 2 3 {l: E
) 4 3 2 1 |
€) 3 4 2
d) 4 2 4 ]

- ¥

112.

113.

114.

115.

L16,

Iy,

(d) Iited 4 o &g AL

Fhdite amaras IEEye (CSR) # #af 3

fedase-ara=m |8 /8 ?

| FOT UE2 2014 7 9 un .3, & ke g
feam)

2. $6 3T ATl A s a1
oM F U SwE 5o s, niRRie e
T B

(a) e | _ (b) hae 2
(¢c) 1w 2EM] (dy 77 13T 62

st & ifod TorEn gew (d "
f | U,
ﬁ:ﬂ% BT ffaa famm a2 ;

(a) TIfE & wifm R R R

(©) FEPE-IT-FF  (d) 3w # {1 T
ik 4T (o, ue, a.) 2017
(a) 10031 g

T (b) 101 &f

(c) 1040 I:Li} ].GSE?

ﬁmﬁﬁiﬁﬁamgﬁﬁ
— w1
A %%

: L. i
B. Tt - |
= 3. cfamft snfe
D. ¥ 4. faeh
E ot

A B rC
a) 2 3 E E
() 4 3 2
£y 3 4 1 >
d 4 2 3



i T

17 Match List — I with Ljsq

| 18.

119,

answer using the codes

o g vﬁlhl;::f:ml ILIH: lists -
(Country) (Capital)
A. Uzbekistan 1. Tashken; |
B. Tajikistan 2. Dushanhbe :
C. Kyrgyzstan 3. Bishkek
D. Turkmenistan 4. Ashgaba
Codes :
A B C D
(€ 1 2 3 4
B) ¢ 2 4 3
@ 1 3 4 2
@ 1 4 2 3

Match List = I with List —
answer using the codes given below the lists ;

List -1

(Natural Vegetalion)

A. Epiphytes
B. Acacia
C. Baobab
D. Cedars
Codes :

A B C D
@ 2 3 4 |1
b 2 3 1 4
c) 2 4 3 1
(d 2 4 1 3

Which of the following is
(Tribe)
(a) Pygmy

(b) Angami

{c) Ainu
(d) Khirghiz

~ 11 and selegt (e COrrect

IT and select the correct

List - 11
{Region)
1. Mediterranean
Equatorial

Sahara

o Sl

Savanna

NOT correctly matched ?
[Flafe}
Conga basin
Nagaland

Japan
Sudan

-13

117.

118.

119

HJIJ-I M— 1",]

el - Ve - 8 gife R wen ofaen % 60 fan
TH 2 W W I A

-1 Tt - 11
() (arreTh)
B. miaieee 2. T
C. feftems 1. farks
D. FHRFEH 4. I
e ¢
A B C D
@m 1 2 3 4
by 1 2 4 3
fey 1 3 4 2
@ 1 4 2 3

gl - 1 - 18 gafem Haftm wen gl & e R
T A HE I

T -1 Tt - 11
(SITRFAR FE) (Erm)
A, it e |, SpTEEETA
B. &5 2. e
C. d¥EE 3. HEW
D, TR 4. HAW
e

A B C D
a) 2 3 4 1
by 2 3 1 4
¢y 2 4 3 1
() 2 4 1 3

(a) fome i 4R
(b) T ATIETS
© ¥ o

(d) Fefira L
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120D,

121.

122,

123,

124,

125,

one Is |abelled as

o R 0 statements, -
Given below are two sate ason (R}

Assertion (A) and the other as Re
Assertion (A) : Indian Qcean fﬁ_llﬁ
Military bases of many big powels. -
Rfﬂﬁﬂl; (R) : There 15 strong ge._{:—ﬂpcr!:t:c.amﬁmé
benefits in Indian Ocean and adjacent €

Select the correct answer from the codes

pecome the

given helow :

Codes : | ;
{a) Bath {A)and (R)are true and ()18 the correc

explanation of (A) |
(b) Both(A)and (R} are true, but (R) is not the cormect
explanatron of (A)
(€) {A)is true, but (R) is false

() (A)is false, but (R) is true

Which one of the following is the correct sequence of
the hills of Central India located from West to East ?
{2) Maikal, Satpura, Mahadeo and Chhotanagpus
(b} Satpura, Mahadeo, Maikal and Chhotanagpur
(¢} Maikal, Mahadeo, Satpura and Chhotanagpur
(d)} Satpura, Mahadeo, Chhotanagpur and Maikal

Given below are two statements, one js labelled as

Assertion (A) and the other as Reason (R).

Assertion (A) : The highest concentration of

Seismic zones lies in Himalayan region in India

Reason (R} : There are many longitudinal thrust

#ones in Himalayas.

Codes :

(a) Both (A)and (R) are true and (R) is the corrent
explanation of (A)

(b) Both (A) and (R) are true, but (R) is not the
correct explanation of (A)

(C) (A)is true, but (R) is false
(d) (A)is false, but (R)is true

‘Imphal Basin' surrounded by Manipur hills js a
fine example of

(a) Lacustrine plain (D} Loess plain

(c) Glacial plain (d) Alluvial plain

Which of the following rivers is fam -

(a) Chambal
() Gandak

(b) Damodar
(d) Ramapap o4

Which one of the following naturg]

a5 "Land of Big Games' 7 EBIONS is known

() Temperate Grasslang

(b) Tropical Moansoon Region

(¢} Hot Deser Region

(d) Tropica) Savanna Region

120).

121.

122,

123

124

123,

| % uer T U (A) T
:ﬂaazﬁwaﬁ{”ﬁ%wﬁ %

_ [R}E?ETW’E.I | il w4
jmm:ﬁzwﬁméaﬁﬂﬁ?ﬁ

o (A) el T (R)EAT
o FUT(A) I HE ST TE %ﬂﬁ‘ﬁ .
(c) T (A)Fdl &, fehd AT (R) i
(d) A (A)TTe &, fhg FR (R) |

e s § e wgisal w1 9fFEs A
fsifeifes & @ BA-51 0 78 #0 £ 7

(2) HTE, WA, HEGH 3TN BIATTR

(b) FAYS, WEleH, Hebret 3T BIEITYC

(c) HeHTeT, HEIed, Hayl 3 BRAFY

(d) HagS, WEE, SieFrTHR 3 A

ﬂ%amﬁqnﬁﬁﬁfﬁ%ﬁmm}a‘m@i
aﬁmm}aﬂm%!
HUF (A) . YA o watfirs HEAT ST e &
%ﬂﬁﬁ%ﬁﬁﬁﬁ%l

(a) ﬁ?tmﬁm I (R) THT Tt & ot sHrop
T (A) S Wt =are @ )

(b) R (A) T ST (R) G Tt & ey
Wimaﬁ‘rﬁﬁmwﬁgﬁmﬁwm}

(c) %mmmﬁ%ﬁﬁwmwaﬂ%
(d) SR (A)Tera 2, fig wpron (R) &t 2

(a) Tag | |
(€) TEw :gim
T R 4

(b) Iy
& e g



‘lflﬁfllllﬂlllﬂllmn,m,

2

8.

with reference to the

L I‘IHT}E“& -
the statements 15/are ¢

Orreey
|. The sedimentary rockg o r the
Himalayas were fassj) less )

2. Marine livings fossils ge f
sedimentary rocks of |ﬁ55ﬂ[_

1. Remains of human ciyj);
outer or Shivalik Himalayge.

Gelect the correct answe,
helow :
Codes :
() 1and 2 only

usi
NG (he “odes piven

{.h} 2 and 3 Dlﬂ‘y‘

c) !l and 3 only (d) 1.2 and 3 -
3 are corecy

Gi"r‘ﬂn bﬂiﬁ‘l’n" are [%rn ELHE _

Asscrtion (A) and the U’[hl‘;{?l Eﬂiﬂgnﬂ labelled a<

Assertion (A) : Akbar, |ike Shéramgm'

regulate the currency of the seage. '

Reason (R) : As in Shershah's

copper coin of Akbar’s time was the Dam

Calart the comect answer from the codesy E.'.‘l’!'l':ﬂ-bt:]ﬂ'l,'i‘ ]

Codes : '

(@ Both (A) and (R) are true and (R) s the correct
explanation of (A)

(b) Both(A)and (R)are true, but (R) is not the comect
explanation of (A)

(c] (A)is true, but (R) is false

(d) {A)is false, but (R) is true

Arrange the following battles in chronological order
and select the correct answer from the codes given
helow -

I. Battle of Sarnal

Il. Battle of Bilgram
1l. Battle of Dharmat
IV. Battle of Jajau
Codes :
fa) I, 1, 1ML, IV

) 1, 1, I, IV

(by 11, I, V. 1
(@ L LIy

[lawing
With reference to Hath Yog- which of the &
Slatement is/are comect 7 o this,
. Hath Yog was praﬂf-ﬂﬂfj by Hdif;[ﬂd by the
L. Hath Yop technique waa also
Sufis. ;
Select the correct answer Us!
-i{:l"n.l.-' .
Codes ;
1) 1 only
(b) 2 only
't} Both 1 and 2

) Naiboe 1 ane?

ng the codes gIveln

currency, the chicf |

|
|

126,

127

128.

129,

NIL-1 =19

ferrera wda Aef % ey i, fcfafera A #
-1 el R 7

%Wﬁaﬁl

e -
(a) ¥ | 302 (b) 9 2 3D
(c) a1 33 (d) 1,2 3 3md 2

TR FIOT (R) FwT TR
WU (A) : T 3 YR ) A U & foal

T (R) - ¥1ee 471 9gf & wwm, s s
UTA i I 1 WgE W T o

A fou 2l o @ W 3w W v i

L T

(a) % (A) 3w (R) 31w § e
(R) U (A) = el =qrn 2
(b) T (A3 FAT (R) EF T § g A (R)
HE (A) T wEt = TE 2
(c) M (A)HE &, T 0 (R) T B
(d) e (A) e 2, g rm (R) wE 2
L. 591 =1 45
11, T =1 qg
[1]. W & g
V. T35 44
Fe: )
(@ I, I, I, IV
(¢) ML, IL 1, IV

(b) 1L, I, 1V, 1
(d) I, I, IL, IV

€2 Im & ded 1 Tafsfas 4 o wh-m s
a0 JU S

1. &3 A TR Zr ST ATE T
2, % A Teran A1 Feht wet 7 oft argrn o
ﬁﬁq@@ﬁﬁaﬂmgﬁu

HE:

(a) wHad |

() & 2

(c) 1 3 25

(dy TAT 1A 2
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1310,

131.

132,

133,

134,

";'-rfi tich one of [he tollowing is NOT the ¢ haracteristics
™ lgta System 9

(4) Iqta wasg 4 revenue collection system

(b) Siya sdtama was the source of information
for Iqta § ystem

(¢} Revenue from Iqta was directly deposited in
Sultan's dccount

{d}) M ugti wag stpportad ro maintain troops out of
the revenne callected from Iqta

Which of the following is NQT correctly matched ?
{(Books) (Writers)
(a) Tabugar-i-Naq; Fi Minhaj-us-Siraj-J uzjani
() Tarikh-i-Firozshqti Shams-i-Siraj-Afif
(€} T tghlagnamg Ibn Battuia
(d) “llﬂ'l'-ajﬂ.lﬂlna,mﬂ Gulbadan Begam
In which year was the ‘Native Mariage Act’ passed 7
(a) 1870 (b) 1872
(c) 1874 (d) 1876
Match List — | with List — [T and select the correct
ANSWwer using the codes given below the Jists -
List - | List =T
(Movement) (Year)
A. Pabng 1. 1855-56 |
B. Eka 2. 1873-85
C. Santhal 3. 1922
D. Tana Bhagat 4. 1914
Codes ;
A B C D
(a) I 2 4 3
(b) 2 3 | 4
e}y 3 1 4 2
d) 4 3 2 |
Which of the following is NOT correctly matched 9
(Event) (Year)
(a) Indian Navy Act 1927
(b} Civil Disobedience Movement 1930

(¢) Second Round Table Conferenge 193]
(d) The Communal Award

1933

130

131.

132,

133.

134,

AN AU ORD 0O

frefafen 3 & sa-h ve fafirem s

ST ) T R 7 |
() I G T UG A o Saee o
(b) s sam sraen £ w5 i
(c) ¥ ® Uwhban U Hiun geH & @ g
mtﬁ - 5
(d) T H g e o @ A
EEG Y
Ffafaa § 4 $h-m o EffE i
() ()
(a) TFFE-U-T1E  feaEE-Iu-faus
~AEATAT
(b) artrE-u-frtard e -u- e - s
(c) Ty T A
(d) EARLAT GRS
ﬁ%ﬁﬂﬁ?ﬂﬂﬁ?ﬁmﬁﬂﬁﬁﬂﬂm qr 7
(1) 1870 (b) 1872
(c) 1874 (d) 1876
ﬁ-l%‘wﬁr-uﬁﬁﬁmm.ﬁnq@ﬁ
ﬁiﬂﬁfﬁ'{?ﬁﬁﬁﬁmmgﬁq;
-1 ~1I
() HE:LI
A HTET l. 1855.5¢
B. w 2. 1873.85
C. | 3. 1922
D. A 4. 1914
+e
A B D
(ay 1 2 4 3
by 23 ;| 4
© 3 1 4 5
d 4 3 o
' ’mﬁ"@“”@”*mﬁaﬁﬁmﬁa ,
(a) Wmﬂmaﬁ;ﬁm )
() 3o 3y 1927
L 1939
sy %Wﬁﬁiﬁm 193]
@) Wi finfg 193.3



J||.-
| 3
-

130

137,

i

the following events in a chronological

Arrange
d select the correct answer from the codes

GE.,IEI" an
E[-.I.n;;n Relow -

[ Appointment of Simon Commission
11 Jallianwala Bagh Massacre
(1. Mahatma Gandhi’s Dandi March
(v, Death af Ferozshah Mehta

Codes -

@, 1L LI

) L. . IV, 1
iy 1, L v, 1
() IV. ., I 1

he Officers of the LN AL was held in

The trial of t
(b) Gwalior Fort

rz) Red Fort, Delhi
c) Amer Fort, Jaipur (d) Agra Fort

Given below arc two clatements, one is labelled as
Assertion (A) and the other as Keason (R}

Assertion (A) = The Asiatic Society of Rengal
was established in the period of Warren
Hastings and he modestly declined the offer of

Presidentship of that learne
Sir William Jones.
Reazon (R) : Warren Hastin

great scholar and an ardent or
e study of Sanskrit,

d hody in favour o

g5 wias himself a
entalist who used

to encourage th

Arabic,

Select the comrect

Codes :

(a) Both (A)and (K
explanation of (A

(h) Bath(A)and (R} are true, but{
explanation of (Al

() (A)is true, but (R) is false

{d) (A)is false, but (R) 18 rUe

answer from the codes given below:

J are true and (R) 15 the cormect

R)is notthe correct

With reference to the National Calendar, which of

‘[hﬂl statements isfare correct ?
-‘The National Calendar of India 1
: Vikram Era.
- The National Calendar is adopted from
January 26, 1950.

S0la.- ;
hﬂh! the correct answer usin
':IED'IJI.' .

kased on

(hy 2 only

@) | only
(d) Meither | nor 2

[

Persian and |

g the codes given |

135

| 36.

137.

138.

NJI.-1 =19

Py graT T AT T EIa Fifam 3
3 fon 5 § & A AR

1. wrEaa T = fgfin
[ fEraiaren = EETETS

@:

@) v, 1L [ I
(b) L IV, 111
(c) 1. I v, 1

The :

(a) (A) IR (R)
HeT =TT B

(b} (A) 3T (R) 2t wdl 8, fr (R) e (A)
= Tt =e TH #

© (ué d, e /e #

(d) (A)TTETd 8, fg (R) TR B

u@mﬂaﬁ%ﬁéﬁrﬁﬁqammwaﬁ%f@?
l. sreefr gt e fR @ e @ |
o e wEPT i FEl 26, |g50 F 37T TR |

= Tdt & 3 (R)FH (A) T

ﬁﬁqmﬁﬁﬁmﬁﬂﬂﬁgﬁm
(a) =aer | (b) el 2
ey 13f 28 (d)#ﬁuaﬁwfﬂz‘
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130,

140

141,

142.

143.

144,

In which year was accounling SEﬂﬂl'ﬂfEd 'Fi“j‘
auditing and Comptroller and Auditor Gr;ﬂ.c:ml 5
task only remained confined to auditing the
Government Accounts ?

ta) 1975 (by 1977

(c) 1976 (dy 1981

Who opposed Planned Development in India 7
(a) Mahatma Gandhi (b) Jawaharlal Nehru
(c) Indira Gandhi  (d) Rajiv Gandhi

Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).

Assertion (A) ; Anicle 30 of the Constitution of |

India does not define the term "minorities”.

Reason (R) : The Constitution recognises only |

linguistic and religious mirorities,

Select the corvect answer from the codes piven below

Codes ;

(@) Both (A) and (R) are true and (R) i¢ the
correct explanation of {A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(€) (A)is true, but (R) is false
(d) (A) is false, but (R) is true

With reference to the federal system in India. which

of the statements 18/are correct 9

I. States have no right to secede from the Union
under the Constitution of India.

2. Just advocacy of secession will have the
protection of freedom of expression.

Select the correct answer from the codes given

helow :

(a) 1 only
(c) Both 1 and 2

(b} 2 only
(d) MNeither | nor 2

Which of the following is NOT comectly matched 7
(a) Public Health and Sanitation State List
(b) Census Union List
() Allocation of seats Second
in the Council of States Schedule
(d) Anti-Defection Tenth Schedule

How many items are th_er-f:: in the 11" Schedule -
the Constitution of India ?

(a) 22 (b) 24

{c) 29 (d)y 32

1400,

141,

142

143,

144,

LT

form and if wrdfin =1 arifefén (e wh)
v o e PRl TE TETerE Tl 5
w1 hae wrEl wa @ diftm oy g
(a) 1975 (b} 1977

(c) 1976 (d) 19R]

o Fratfem faem &1 fae e faem 0
(a) WETEHT TiEh (b) TEATETEATS T5w
(c) Efmn v (d) TfE il

19 & e fon o # e o H FE (A)w

ZEL ! F (R) HET TR

WA (A) ; WIS GRaUE 7 i eg 30 HETHE

o Wz wt wivhv 7 w2

& (R)  Hiaure SFas w3 aififs serae

1l =t g VAR F R

A= o = F & ad 3w gf

(a) (A) 3T (R)THT F&1 & IR (R)FYA (A) H
e e

(b) (A) 3T (R) ST et & i (R) FeM (A) F)
Tel ST 8 8

(€) (A)=E & fig (R) Tem 2

(d)y (A) e B, R (R)EE &

W HuTes Saeen F we 1 Rofafe §

hiF-H1 Fe we 28 o

| W dfaes % sty usat 9 5y & s
EER R e

2. S B FI WH See w0 a1 sty 6
T g et

ﬁﬁq@ﬁﬁﬁﬁﬁmﬁrﬁﬁﬁw
(a) e | (b) e 2
(c) 13230 (d) 9 1 34 & 2

Y e
(c) =9 ¥ 9§ Hidl &1 szamy ﬁﬂ“’maﬁﬁﬁf
(d) TerEe fay eodl 3T
AR 5 W 11 S s § R e g
(@) 22 (b) 24
(¢) 29 (d) 32



8. The Money Bill Is defined in which Article of the

Iy

A,

=,

ropstitution are applicable in which of the

ference 'O Prime Minister's Office (PMO)

ith ™ —
of the statements 1s/are correcy 7

“]'I one
'i‘

; i ;hﬁﬂdﬂj‘ by the Cabinet SE:ETEMT:;

xistence in 1977,

el e comect AnSWET from the codes given below -

Codes * |
) Unl}rz (b) Both | and 2
. only | () Neither 1 nor ?

The provisions of the sixth Schedule of Indian |

following states 2
(b)y Sikkim
i(d) All of the above

(z) Tripura
(c) Nagaland

umich of the following is NOT comectly matched 7 |
() Habeas corpus “Ta have the

bhody of’

‘We command’

*Ta be cen fied'

‘By what quthority’

(o) Mandamus
j¢) Prohibation

Id) Quo-warranto

Conctitution of India 7
(b} ﬁu‘l]Llﬂ | 10
(d) Article 112

{a) Article 109
(2] Article 111

oy ed by PM.2 |
Cross border oil pipehne mdﬂﬂalrsﬁ of the iﬂHumﬂS

in Septe mber 2019 connects W
Cilies ?

la) Motihari and Amlekhganl
(b) Darbhanga and Amlekhgan]
le) Motihari and athmandu

(d) None of these .
* by e
\d Heritage 51 - '3

lipur was listed as ‘wme Com mittee’

UNESCO *World Heritas
Stsgion held in the city
a) Baku (Azerbaizan)
(b) Bishkek (Kyrgyzstan)

fe) Istanbul (Turkey)
Id) Marakesh (Morocc®)

_24-

145,

146,

147.

148.

1449,

150
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gqmm srafem (A.AaM.) & Fmey ©
—Fafiga 1 3 WA-81 T T4 B[R 7

| 7@ 1977 & e 3 S |

i fam o 2 @ @ I AT

e

(a) e 2

(c) Fae |

(by 132 gA
() A1 FRAH2

i dfgu @) wal FHEHl F aEaE
o 5 @ frg T B EL R 7
CYRELUW (b) faftam

(¢) ATTATS (d) IuE Al

ﬁmﬁﬁﬁﬁﬁﬂmﬂﬁgﬂﬁﬁﬂﬁ% d
7 ¥ fg @iet o

1 HUE"
7 it AEHES
ard wgTE i

(a) =g 109 (b) ¥A=os 110
(c) HT=oE 111 (d) =0T |12

iﬁﬁﬁtmwﬁgﬁ:ﬁﬁtﬁﬂﬁmmﬁﬁmm—mﬁﬁ
UTEGEEA = Gt 1 & 3 < Tl = Agdl 8 7
() TR T STHEET

(b) TOTT T SHAETH

R fava uire st g e fhw et A §
Eqaaa*mnmgtaft o wiTer Twer & #0 4

et o T R
(a) FE (LA



